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1. INTRODUCTION
In RAN2#122 meeting, possible design for MCSt was discussed and resource (re)selection for MCSt resources due to SL LBT failure was discussed and no conclusion was made:
Agreements on MCSt
1: 	For Qustion-1 from RAN1 (Q1 in R1-2304257), R2 replies that it is feasible to select the resource for a single TB in MAC layer and concatenate across separate resource selection triggers across TBs in a best-effort manner.
2:	For Qustion-2 from RAN1 (Q2 in R1-2304257), R2 replies that the approach 3 is not compatible with the current specification and it may bring big specification impacts.
3:	For Question-3 from RAN1 (Q3 in R1-2304257), R2 replies that it is feasible to provide a new parameter “number of slots for MCSt” to L1 when triggering resource (re-)selection for MCSt.

…
MCSt (FFS whether SL LBT failure triggers resource (re)selection or not)
· To be concluded next meeting. 

In this paper, we discuss possible solutions for resource (re)selection for MCSt regarding LBT.
2. DISCUSSION
In RAN2#121 meeting, it was agreed that RAN2 understands that the UE triggers a resource (re)selection when PSSCH transmission was not performed due to an LBT failure indication from L1. While MCSt case is FFS:

Agreements on SL resource (re)selection
1: 	RAN2 understands UE triggers a resource (re)selection when PSSCH transmission was not performed due to an LBT failure indication from L1. FFS on MCST case. Send LS to RAN1 to check if there is any concern.
2a:	RAN2 understands L1 handles LBT impact to/from other UEs’ reserved resources in SL candidate resource selection (inter-UE case).
2b:	RAN2 will study how MAC performs resource (re)selection with the consideration of LBT impact to its own candidate resource (intra-UE case).
3:	Will send LS to RAN1 to check if there is any concern.

For MCSt, the UE performs SL transmissions via consecutive resources (for one TB or for multiple TBs, based on final design from RAN1). One difference between MCSt and other SL transmissions with multiple transmission opportunities could be that MCSt resources contains concatenate resources bundled with each other in time domain. If the UE is to perform resource (re)selection in response to a LBT failure indication of a transmission in the middle of MCSt (e.g. transmissions except the last one), the UE cannot obtain a resource that is closer than what the UE already has. The UE can immediately perform (re)transmission using the next consecutive resource (if the MCSt is for multiple transmissions for one single TB), and the resource reselected may be wasted. 
Observation 1:  If the UE performs resource selection triggered for LBT failure in the middle of MCSt for one TB, the UE will select resources later than the rest of consecutive MCSt resources. 

In addition, one of the main purposes of the MCSt is to reduce number of type-1 channel access. For the first/initial transmission, if the UE is not performing MCSt in a shared COT, the UE performs type-1 channel access procedureto obtain channel access; if the UE is performing MCSt in a shared COT, the UE perform type-2 channel access procedure for the first/initial transmission. For successive transmissions, if the gap between the transmission and the previous transmission that occupied the channel is smaller than a threshold (e.g., smaller than 16us), the UE does not perform channel access procedure; otherwise, the UE performs type-2 channel access procedure. If resource (re)selection is performed for each LBT failure for the MCSt transmission opportunities, the UE may need to perform type-1 channel access for each of the newly selected resources that is separated from the original MCSt.
Observation 2:  If the UE performs resource selection triggered for each LBT failure in the MCSt for one TB, the UE will have to perform type-1 channel access for each resources that are separately reselected.

For the cases where the UE does not perform channel access, there’s no need to decide whether to perform resource (re)selection or not. For the cases where a channel access is needed, based on above observations, several options can be considered in order to maintain the advantage of the MCSt. One option would be that the UE does not perform resource (re)selection for MCSt. Another option would be that the UE performs resource (re)selection when the last transmission opportunity for one TB in the MCSt is not performed due to LBT failure. In this case, the UE can reselect a resource after all the MCSt resources are used and the UE can perform retransmission of the one TB using a reselected resource if LBT failure occurs and no MCSt resources are available for retransmission. To further optimize the option, another option is that the UE can perform resource reselection for LBT failure indication of the last transmission of MCSt if PSSCH (re)transmissions of all transmission opportunities of the MCSt are not transmitted successfully due to LBT failure.

Proposal: 	RAN2 selects one of the following options regarding triggering resource (re)selection due to LBT failure for MCSt of one TB:
· Option 1: The UE does not trigger resource (re)selection due to LBT failure of MCSt.
· Option 2: The UE performs resource (re)selection for MCSt only when the last PSSCH transmission for the TB was not performed due to an LBT failure indication.
· Option 3: The UE performs resource (re)selection for MCSt only when the last PSSCH transmission for the TB was not performed due to an LBT failure indication, and LBT failures are detected for all transmission opportunities of the MCSt for the TB.
3. CONCLUSION
In this contribution, we have following observation and proposal:
Observation 1:  If the UE performs resource selection triggered for LBT failure in the middle of MCSt for one TB, the UE will select resources later than the rest of consecutive MCSt resources. 
Observation 2:  If the UE performs resource selection triggered for each LBT failure in the MCSt for one TB, the UE will have to perform type-1 channel access for each resources that are separately reselected.
Proposal: 	RAN2 selects one of the following options regarding triggering resource (re)selection due to LBT failure for MCSt of one TB:
· Option 1: The UE does not trigger resource (re)selection due to LBT failure of MCSt.
· Option 2: The UE performs resource (re)selection for MCSt only when the last PSSCH transmission for the TB was not performed due to an LBT failure indication.
· Option 3: The UE performs resource (re)selection for MCSt only when the last PSSCH transmission for the TB was not performed due to an LBT failure indication, and LBT failures are detected for all transmission opportunities of the MCSt for the TB.
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